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MULTI DISCIPLINARY COURSE
Paper Code : MDC0200203
{ Foundations of Mathemat_ical Sciences—II }

Full Marks : 45
Time : 2 hours

The figures in the margin indicate full marks
Jor the guestions

1. Answer the following questions : 1x5=5
o AR See fora
fa}) If statement p stands for 2+2=4 and

statement g stands for 3-1=0, then _
find the truth value of prg.

™ p SREGIR 2+2=4% W% ¢ SRBIR
3-1=0% &M, (W PAGI oA ffy
741 | '

(b) Write the negative statement for. the
following :
“All good teachers are male.”
Y SRR T Bt
REINAR S e 7w
{c) Find the mode of the following digits :

TS R SRR A I B e
2,4,6,8,2,3,7,5,9,4, 7, 4
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(2)

{d) Fill the blank in the following series :
were ot Caffics AR B2 e 3 -
ZAs, Y4B, XCq, W3D,

e/ What do you mean by correlation
coefficient?

AZATH QRS I mm mgﬁ

2. Answer any five of the following questions :
2x5=10

wore et R e skt aus Sy forgt -

fa) In how many ways you can dressed
with a shirt and a pant if you have
4 pants and 5 shirts?

R 451 ¢ wi% 5Bt oibe o @bt ofb W bt
P Ream @ iR sifean?

(b) If +’ means <, < means *’, x’ means
‘+' and 4’ means ‘+’, then find the value
of wmxmlwmiwxp.

d.»..wlﬁ g ﬁ.& =) e ﬁ& .x.‘ x'g ﬁ.& ) e
g oY 4 W, (B8 25X 515+ 3 x 43 W

fafy ==t
(¢} 1f the mean of first n natural numbers
is Wmﬂw then find n.
iy e %ﬁ%aﬁéuﬁa 2L, =
nd T T 3
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(d}

(e)

(g)

{h)

fi

24A /842

( 3)

Solve

4x+3<13-x
and represent it in the number line.
4x +3 <13 - x % TH T HF FYILIAS
opziom 3 | |

If (af) MATHEMATICS = 12345123678,
then ((¥@) MAHATMA=?

Find the number of diagonals of an
octagon.

OBt SogEd o4 ARy W

“In a group of 370 people, there are
at least. two people with the same
birthday.” Is the statement true?
Justify your answer.

“370 wRE <5l T R Wi WS TEn
e Sl @Bt WS o SRS e ?

R TR ferest Afem )

How many times a wheel of radius
28 cm rotates to go 352 m?

(Take .ﬂu%W
352 o Ay T 28 & f. gy <51 o
e a1 o iR (Fat o == 32)

A is B’s sister, Cis B’s mother, D is C’s
father and E is D’s mother, then how is
A related to D?

{ Turn Over }




(4 )

Az BI of, C @k BI 4%, D8 CI
G8oIT 9IF E (W' D4 W, SR DI
TS AL R Tt @i

(/) Find the mean deviation about mean
for the following data :

fere oy csae Wy 4w e Rphs
Tferert :
6, 7, 10, 12, 13, 4, 8, 12
3. Answer any four of the following questions :
5x4=20

TS et R @ wift e Sew ot

(a) The distance between two stations is
100 km. A train takes 240 minutes to
cover this distance. Calculate the speed
of the train in km/h and in m/s.
T AR e [g 100 R g @m-
WE @3 @y 240 ARG wfewy =i
e afowrs PR/ we Rtny
&Pe fEpiee Bfereat )

(b} The angles of depression of two ships
from the top of the lighthouse are 45°

and 30° If the ships are 120 m apart,
then find the height of the lighthouse.

951 AED Y ST A I WRITE TS (I
FE 45° F 30° W I wwE 7o
e @Y 120 R =0, com L5 91 Swo
fafa )
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(c)

{d)

()

24A/842

(I

A committee of 7 has to be formed from-
9 boys and 4 girls. In how many ways
can this be done when the committee
consists-of—

(i) exactly 3 girls;
(i} at least 3 girls?

9 o B WF 4 T (WAAR IEH 74l 99
7 wam AR 9w T s | ARiRew R
(1 A IRT MR, wfiig Aifee

fi) 3 @A @A U,
fii) &> I 3 G @R WH?

The length, breadth and height of a
cuboid are in the ratioc of 6:5:4 and
its whole surface area is 66600 cm?,
then find the volume of the cuboid.

T G5t Y B9, AF S THO 6:5:4
TS QAF AF W@ P 4P
66600 3% ZR. =, (W TIHR TS
ety o9

If second, third and fourth terms in the
expression of (x+y)" are 135, 30 and

p%l respectively, then find the value
of n.

M (x+y" IGR B8, v wWE e
PR FW 135, 30 WF 1L =, (&8 nI
T forfr w1 _
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